Warm Up
= (39 065) 16 = - (.25
1) Given f(x) %2 Tx + 6, state the
following: — (7« - Z/fj)

1) Vertex: (%2 '1&'26)

7
2) ROS: A\~ 20~ ¢
1/ 3 Max orMinValue: /7 - 425

4) Y—Intoe}rcbept y=(df =0) 1 ¢

5) X-Intercepts:
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Homework Answers 1-4

I. For each graph fill in the blanks for the requested information.

a) y=3x +6x+2 - Vertex: ""!-"""!5

T ‘*’r‘ _ ‘ Zemes:(—_hﬁa :9) + C".*{-?.'?*;JD’)
“, T :_‘ f Y—intercept:M

i— _f’[ r '; F 1 Axis of symmetry: X= 'H,

c B! RN

Febet= 11 A RERE Decreasing interval: __% -1

0 T I O

?'_JL E _lit\ I - Increasing interval:_ 2% 7 — |

i - t

b) pxt - 4x+s ‘n’ertex:(i}_?.-}

-ﬂfh ) ,1 zeroes: NO Yeal Zeros
1'1 _ .f 1 j; y-intercept:_( O, iﬁ?\l

[ E\x : J;’Fli-’ Axis of symmetry:_ ¥ = pi

il}k /j — | Decreasing interval:_ % Z
Increasing interval:__ % 2 2

| ik :i L -

c) 4,;:-_-2::3 e . \u"‘ertEx:_(-_Li,_qs
3 ; i 1 Zeroes: {5-45:{}}*'(2,%]0)
- ; IJ ‘] ; | y-intercept; {i}{'zgj%
éf; . 1 % 2l Axis of symmetry;_X = \_J‘
- if! 1: ‘E{ Decreasing interval: ¥ # '_'t
1 | - Increasing interval;_{ < L}‘



Graph the function above

- A,
) 1Y I
. "% 3
; 7
d) - vertex:_(l, =2) ;\ c
y=2x" -4x | Zeroes: (Dab) *’{239) ) \s L3
37 : b D) t?\ f i
‘ } [ y-intercept:_ £ 0y R
B i - Q876 hABs 21| 123456788 Iy
T J ' Axis of symmetry: A= I _ 2 _
L. | § -3
v f T Decreasing interval: )f.“'\k 4
/ ' >
A . Increasing interval:_¥ 7 | -
ThIA LI 11T 8
ANV 5 B g
REEEE :r il 4 N
| -
Equation . Axis of Sym'metry Vertex Factnr X~ mtercept y-intercept

Homework Answers 1-4



Graph the function below

»
-

- o fa L O g D WS
“W?Fm

i v

Vertex " Factor Xintercept y-intercept

l'l'l

-..1.

.1.
r ] [l 1
4 th:-dtntn.hchre..\.

PRI

i) 'L';*’l"'""*""?-‘?;é@ﬂ-!f*)(ﬂ DY (6 ~24)




mFor the equation y = x? — 4x + 3 find the:

N — O

m]. solution . X-intercepts| 3. y-interc

O X =YX+ X‘Oz

D= (X-3) (%) 7=l0) o)

Xoleo  X-l=6 =3 (©,3)

m4. AOS 5. vertex % ma
\ 4 / = -
x : Increasing Interval:

m7. Graph:

- fiua

1

O g - & L

| o 6 -5 -4 -3 -2 -1_? 3 4 5 6 | Decreasing Interval:
z |- “’:

P @ 4

T3 ;
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s For the equation ¥ > %2 - 4x + 3 find the:

m]. solution 2. X-Intercepts 3. y-interc
O =Xy (2,0) (o) X=o

Xz X=) Y= @i

m4. AOS 5. verygx ) m%
\I j T ing Interval:

:
: ‘ /0
m7. Graph: L & >
[
6 5 4 3 2 10 IL.3 4 5 ¢ | Decreasing Interval:
| C/ >, Z)
— (Dr (/ DOIM)

| e L9
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mFor the equation y=4x?-9 find the:

m]. solution 2. X-Intercepts 3. y-interc
O’/‘/X‘LSZ( (“%,03 (%O\ V= 70)g
IX+S) (X~ 3 N = -
4. AOS 9. vertex 6. max/min
: iIncreasing Interval:
m7. Graph: :

~|+ Decreasing Interval:
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mFor the equation yéélxz -9 find the:

m]. solution 2. X-Intercepts 3. y-interc

m4. AOS 5. \/rf\rtex /Y 6. max/min
¥
A
5 Increasing Interval:
4
1
- | Decreasing Interval:
¢ 4 Lo 4 5 6
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1) A bottlenose dolphin jumps out of the water. The
path the dolphin travels can be modeled by

h=—0.2d° + 2d, where h represents the height of
the dolphin and d represents the horizontal distance.

a) What is the maximum height the dolphin reached?
SCH 5ol
S lighffeas 5" achyg
b) How far did the dolphin jump?
10 £+ | Ve

1O /’@LWlVfo,r l 0“’\‘[\0
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t The amount of money that a freshman class
fundraiser can raise can be modeled by the
inequality y(< >2x2 + 16x — 24, where x represents
the number of days into the sale and y represents the

amount of money raised in hundreds. y—-2(¢) ‘ +/6/V) -2y

-/ _
m Graph the inequality. X’/_ﬁ - -le T ‘)

iSlE o T
m What is the maximum and what does it %J?
represent? - o
/ \
g /
i

O] OD fa, oo 6

|

m When will the fundraiser start to raise [ \J,
rl) \

money* ZO'CHJJ,/UL) 7[?//10//&_-[&\ /

m How many days should the fundraiser [
last? Defend your answer. l

bayf bre ifweld sfe b tosing
m On which days will the sale make more {

than $4007? < %

guUI-Lm R
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2) Jaime owns a business making decorative boxes to
store jewelry, mementos, and other valuables. The
function P(x) = - x? + 50x +1800 models the profit P(x)
that Jaime has made in month x for the first two years
of her business.

a) What was the initial start up cost of her business?
X< 0 () #9000y (€00

i
{

D

b) During what month did Jamie make the most

DN o

c) What was the most Jamie made?
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3) A Field Hockey player makes a scoop that releases the
ball with an upward velocity of 34 ft/s. The function

h = -16t? + 34t models the height h in feet of the ball at time
t in seconds.

a) Does the ball ever reach 20 feet?

No

b) How high does the ball travel?

ot £

c) How high is the ball at onds? At 3se ?
HE
d) When will the ball reach the ground?
QO = “/(Q“RfE(’{t Zﬂé S econlS
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==

8. The profits of Julie’s new company can be
modeled by the equation y < —x? + 8x, where
x is the number of months and y is the profit

. g " Y

in thousands of dollazrs. X=25 X=1 = (
2L-0) =1l (L{’/(”B
A -

m Graph the inequality. y-¥ ‘

m What is the maximumy /h(jlt does T )
it represent? \— bdO THH
7/ / (ﬂl" 'P (OS ) ’\' -: ,

m How long is Julie’s company

rofitable?
@,"03125 (3.0 qarred 5
m Julie wants to know when her
company made $12,000 or more.
Eoon a2 -1,
m Write the inequality that
represents this situation and

graph.
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Homework

HW4-2 #1,2

HW4-3 #1-17 Odc

Study for
Tuesday’s quiz!!

Tutorials: Before school and Wednesday
after school until 3:00 pm




